
2017q11J5. B€6-+jl ^ll4sl 
-+ilgg9lgsj €71€pl

"J ^l : 201BLJ }IE 22!(gs"J) 11:00

A a: 99€
al4glg : ++sgg : _e_del., {cB, 5+6c

il g +lg : +€-J, 5l6ls, 5l?14, Z^lle+
xl q9g:zJE3(998)

E^l9ld

1. 2018-+LJ5- -+€.JCnq 4lqel 4
2. 2018-+'JE "J-+^J 37llH ,aqr+€ ggq 4
3. 2018-+'JE C-+'J ,lqr+€ ggE 4
4. 2018-E'-J5- qd++gg4lq "t -+ns€.+^lE^l .Jae-l iJ

5. 2018-+E5- gqoielC$rJ^t C+^ll$ "i ^ll4l"+e] 4
6. 2017+LJE -+nHl ol4l 

^lllej +7le€ qt?lel 7J

7. 2018-ELJ5- -E,aEl sl4l qAlte.l 4
B. 7l+ ?le(2017-+LJ-E Bde+,Z gCTl+ 

^d "; €-€ 4lg("J)e.l ,J)

- rJ ^l: ?l'd6tdqzl? ^l++El 2017qlLJE 
^ll4sl 

-Ei+g+lgq €zl*pl= +€ xjl

68 
^1122^ 

1.?ql -"-lZ elel= ^l4l6l4+qq.

- glgA : tslutsCtllE E+6lr ol=J4l B46tq +^l^l ,J^t-sll-ltl. Ejil- gg9lgsl

^]1771 a€9lgH=g _s-rlr 
^ll4sl 

-+.]aggggsl= ,)A1 EIH+qq. 12Be-l +lg +
BBol Al46tq €flol 9H o oE- 71e;= Ct-.Jq+.
r =J slel= ^lAl6t4+tl4 Hxl lHnl] .Jzl xll?l tr€6lq +^l7l ute.L.lrl.

El -=_-t

7J 
^l sg9ga -Er8

d*1eu -?j,-r,z

1



,r_^t ol€-q : (2018+tsE -+€?]cnq 4lqel aql ql6t€ xll$ €€-"J.)

9lg5t:xllql€€ g $H+qq.+el rt.?ol glq^lfl "J+6ll +^l7l tst$qq.

-+l g:S*u14.

- 996l : r.al €E tr9 ^ltg €Ag dE:"Jq+ (el,tlB34) 2018-ELJ_E- +^J.JCI
q |lqe] ,;191 rll6tq gEil LIS$ Eeql EolA+Lltr+. &d6t^l= 9lg'J5/41^l= 4
+6tq +^l7l Et+qq.

-9 9:Cfltl€

- gga:cg &€61*,etr_tr_ 2018*'Js_ -*€"Jcre 4qE aq ql6tq gE:d Lll

8g TleElHgg Cs-.Jt-ltl.(e]^tB3+) tr+= +e-l^}.?e elel xle.E H €triH^l-r. +
el+^l7l Htgqq. +€. $eg tl€6tA+qq. ^il$ €E6lq +^l7l Hl+qq.

jt^l 6l+-=;:(201BqIH_E- Eqt€ 37H'J nqr+€ ggE aq ql6lq 
^ilg] €E-*.)

+lg[t:^ll?] €E g 
=H+q+.Eel 

.'.l-aJol glq^lfl "J+6ll +^l7l Et+qq.

-91 g:S#l]4.

- 9g6l:lal €E.Eel ^lrJg €eg CE-.Jqq.(e],(|934) 2018-+E5_ "J-+^E 37ll

'J ,aqr+€ s€E aql ql6lq gEql LIag _Eeql Eol4t#L]q. Tld6l^l= ggH
57ll^l= 4 +6lq +^l7l HtBllltrl.

-91 fl:CfltI€

- glg$:dfl TI€6lH.qE-+- 2018-+LJ5. "J-+^J 3711,-J rq+€ AgE Aql ql6tq
gsel Lll$e TtA:=-lHgg Cs-"JLltl.(E^l+3El) +e +E^t.?e slel ^tE= tl gtrl

_H_^lr Eel+^l7l ulBlqq. q€. trJg tF€6la+Lltr+. ^,ll"J €B6tq +^l7l ulElqq.

r-^l 6tf+: (2018*'J-E- C-*'J -u.qq5 $gfl ,Jql ql6lq 
^ilg] €€-J.)

9lg8:xll"J €B g $H+q+.+el rt.?ol gls^l$ "J+6ll +^l7l El$lqq.

-2-



-91 $:H+L]tl.

- glg$ : _aal €E Eel ^lrJg €eg Cs-"Jqq.(E,lt.34) 2018-+LJ_E_ C*'J lq
r+€ e€q ,Jql rll6lq "JE-d qag E.€q Eole+q+. {}€61^l= 9gH57ll^l=
4+6tq +,Al7l Htgqq.

-+l g:CgTl€

- gle8:Cg t}€6tg,qE-e- 2018-+tr5- C-+'J-:zqr+€ egE Aql ql6lq gs-d
Lllgg 7l44H€.g dE-Jqq.(el^t+3+) tr+= +E^1.f,9 slel ^lE= cl €.tr1H^l_r_

+el+^l7l 'rt*qq. q€- .Jag tl€6ta+qq. ^il91 €E6tq +^l7l ut*qq.

- j7 1 a+,8 : (2018-*LJE qd€++g4lq "i -+ja+€.+^lE^l .JaE aq ql6}q xll

9l €€-sl.)

- glgA:El?l €E € ER+q+.+E rt.?ol gle^l$ g+6ll +^l7l ul$qq.

- 9l g : $.+qq.

- +lgt : r_al €el Eel ^ltg €eg CE-*L]+ (el^t+3Et) 2018+LJ5- qd€+e€
4lq "i -+:rlg-€i+^lE^t .JAE Aql ql6lq g+:d LI+g +.eql Eol4.6Lltr+. dd6t

^l= 
glgH 

=zll^l* 
4+6lq +^l7l EtBlqq.

-91 ?:Cfltl€

- 996} : Cg Tl€6t9qEE- 2018*'Js q€€+e€4lq "l -Ens5+^lE^l .Jael

aql ql6lq gE:* Lll€-e 7l4El9gg cE-"Jqq (el^l€-3E+) tr+= +E^t.?e trlE x|

E= trl gtriH^lr_ +E+^l7l ulBqq. q€ $a€- 8€6la+qq. ^ll"J €€6tq +^l
7l ul*q4. xflgl €Ee q+€ C^JHol EilAl6l4+qq.

- e€d qe€ :(2018-*LJE €qeje+C+rJ^l C+^ll$ "i ^ll|lqtq Aql ql6lq 
^il'J

€€-"J.)

- glgA:xllgl €€ E =$+qq.+el 
rt.tol gq^lfl "J+6ll +^l7l BtBlqq.

-91 g:$.+qq.

-3-



- glgel : _1aJ de_l.Eel ^ltg
EA^l 

^l+^ll8 
"; ^ll4l"Jel Aql

= 
glgHE/4I^l= z+6tq +^l7l

-g g:Cflt^d

€eg Cs-sllltr+.(e-l^t+3+) 20l8-ELJE_ € qslslC
ql6tq g+_{ tIAg Eeql Eold#r]Q. {id6}^l
utgll tl.

- glgA:Cg Tl€6tH,qtr-E- 2018-ELJE gqslslC+rJ^l C+^ll8 "l xll4l"J9 rJql

ql6tq gs:* ql€-e 714ElH€-€- dE-slq+.(e1^t+3E+) rt= +e.l^}.?€- elel ^ls=rl .$nlrlrl_/ Eel+^l7l HtBlqq.+g "Jag t}€dta+qq.^ll?] €E6tq +^l7l ut

%lq+

- "J€d rJdH:2017o1E5. qliEl eJ4l 
^llls.l +ila€ ql+Ie 7l€ql+l 4,08e,234,000

gq^l d€qlt} 4,696,443,0008 oE- 607,290,0009 +71 6ls,eq, +sg?l€- +^l^l
gu1ua..i.i +^llalnJq# "G'o4"JLlrl g^lolg Lllq€. nlTl€-g 29,390,3409, qlru

+^l&g 2,068,000"9, %lr++trlf,€F+ul^lg 4,160,4909, il++gul^lg 1.260,0009

"JLlrl. s--C, +"-l^l+.r,FtE € -dtq}+El 26,260H& TlEAtollgq 7l+dtH+qq.

- 9gA:^ll?I €€ g EH+L-]+.+el rt.?ol 9lq^l$ "J+fl +^l7l ut+qq.

- I g : S,+qq.

- 9gA : lH €fl Eel ^lrJg +eg C+-.Jq+.(el^t*3q) 20l7ql'Js qlnul sl4l

^lllel +714d q^l.JE eql ql6lq EE:* ql€.g E€q Eoldt'-]tr+.Tld6t^l= 9l
gH=,41^l+ 4+6tq +^l7l Bt%Iqq.

-91 g:trflt}^d

- glgA:Cg t}€6lH.sEE- 2017-+LJ5- -Eiul cl4l 
^llle-l +r14tr ql,t}?lE aql

ql6tq gE:* Lll+e Tl3gHgg CE-'Jqq.(E^l+3El) tr+= +E^t'f,e elE ^tE=q €.qH^lr_ +el+^l7l Ht+Llq. qg $eg t}€6ta+u14. xll?l €€6lq +^l7l Ht

gqq

- "t€d ,J€H : 2018-arSE- q'-IHl 
^ll"J.^ll€ 

ql+Ie- 4,187,716,0009 a-+- ql+-E- "t

"J^dsl el,f+H_$- +lalfi enllol^lql +^16lH.sq slzlol Sq "J'd6l^l *6tH,+Ll+.

-A_T



- glgA:^ll?l €E € Efl+q+.+E rt.?ol glq^lfl "J+6ll +^l7l Hl$qq.

-91 fl:S#114.

- glg6t: r_al €9._s_ql ^ltg +eg Cs-"Jqq.(e1,l|934) 2018-+LJE_ -+jLHl trl4l
ql^I"JE aql ql6tq gE-d LIae E€ql Eol4f'-]tr+. TI€6t^l= 9lgH5'ril^l= 7.1

+6lq +^l zl ut$tl4.

-91 g:dfl&€

- 9lg6l:dfl Tld6tg,sE-+_ 2018+H5- -+jaul el4l ql&?lE aql ql6tq gEql ql

8e: TleElH€-€- 5+-*r-l+.(el^tB3+) trt= +q^t-?e olel 
^tEE- 

rJ gtrlH^l-r- +
E+^l7l Htgqq. q€-qe +71?]ag 8€6td+qq. +€al olH tr_lEql 9€ol g_s-

-d rJ+ 
^i?I=E 

slE c ggH=E ^lc EE= eHTlq +7t?]aqe tl€614.+qq.

^ll.J €€6tq +^l7l tslBlqq.

--"J€d rJ€H :2}rBq+,JE tsC+q-il Bdzl=- =4 P +€ Zlq(.J)el ae
+'; rllq zl€zl9

'llodat --l
JOH rll odat - =-ollEIf

nlq+FEl 44,800,0009 ;il+gFEl 44,800,0009
qt^j94 ul 2,500,0009 qL^J+4 Hl 2,500,0009

,jl 47,300,0009 A] +z,soo,ooo9

-a-sal trll-*"JEHll+e sl 
^l"E? 44,800,000-"d 6 ql^l 30%oJ 13,000,00099 ^lE^ldtq

+se S€-:"J 4q"JLltr+.

- glgd-:El?l €E € EH+qq.+E,'.|aJol glq^lE "J+6ll +^l7l Ht+r-]trl.

-9 fl:S#t-14.

- 9g6l : lal €E.EE ^ltg €eg dE-.Jqq.(E^t+3Et) 201BqI"JE ts^d+q-u
Bdzl + =4'l 8oJ zlq('J)E aql ql6tq g+:d LllSg Eeql EolA+qq.t}€
6t^l= 9gH=/41^l= 4+6lq +^l7l Htgq+.

-9 g:dgtd

-5-



- 9lg8:dg 4!dal$,eu-tr 2olBtrlLJE +^dfqlr *dzl; =^d'l +€ Zlg('J)
E aql ql6lq g+-d LIA9 Tl3ElHgg ds:slqq.(E^l+3E+) tr+= EE^t.*e s.l9

^lE= 
rl gtriH^lr- +E+^l7l HtBllltrl.oltl TlEls:dE:"J rt-?ol gls^lE g+6lq

+^l7l ulgqq. B€€'qt91 
=+61^l= 

s= d^J.JE €"J +r "Jsdqq. *oE_s.
*xd5ol qq €e- Ftaq^l *+E:g + glE+ r=q6lq +^l7l ulBq+. 1=J olae
tr 2017-ELJ5. 

^ll4FJ 
-EnegggolS ulxlE+ 6te+qq. (el^t+3E+)

-6-


